Vijayi Bhava | Vijaya Patha Model Test-53 Key Answers
PDO VAO Model Test-8 | Paper-1

1) womh FRSORT® TRETY TWOIT tINTT Moo T TOwYES' NNy Fdsen
W33 mocew PBreeiese, (If the tennis Grand Slam tournaments in a calendar
year are written in order, the correct pair is)

a) Australian Open, French Open, US Open, Wimbledon

b) French Open, Wimbledon, US Open, Australian Open

¢) Australian Open, French Open, Wimbledon, US Open

d) French Open, US Open, Wimbledon, Australian Open

2) 8 3INT BRRYTT TRITITRY, ot AT TRoNLRNY. (The Tata Group
does not own which one of the following company?)

a) Titan Company

b) Jaguar Land Rover

¢) Air India

d) Kia Motors

3) TRFWT TUROT O30T TEQTT ROT H|NOR IF, TRV BHOTQode VAT,
& o -0

VPZRORE? (Which nationalized bank based in Karnataka still exists under
its own name?)

a) Vijaya Bank

b) Canara Bank

¢) State Bank of Mysore

d) Syndicate Bank



4) 33 IPNT FeoQprom So:;m'f B0TT JeVINYY O30T RewIOIN TOASHNY.

(Which of the following statements about Central Agencies is not correct?)

a) TOQEOH B TR (NIA) F3ReTR Ty ToWead FTIR TowoHIT
= =
SBRYRY, TBMSTW. (The National Investigation Agency (NIA) conducts

investigations related to terrorism and national security.)

b) geoleed 2R [YRY (CBI) MTFEAT BSTEON 5 TPRFRT, SHPET DR
aoomsg OTTHNRY BRBNEY, SEWIX. (The Central Bureau of Investigation
(CBI) conducts investigations into corruption, financial and violent crimes in

public life.)

¢) R0 ABerBTORY) (ED) TonR0E THYNE LVQOFION TTFT SRBNET,
ch,‘:bgd. (The Enforcement Directorate (ED) conducts criminal

investigations into civil rights violations)

d) Se8Rertdst Fotdee® wetet (NCB)oK SRTes s9mns whe) 9T
SRWRY WFTOLTY, SECLew TORE ITFLHIN (NCB is tasked with combating

drug trafficking and the use of illegal substances)

5) RUST 5 Se DO RrZod IWC FROTEYHBE DORY Toac,
a) 1,706
b) 2,226
¢) 2,967
d) 3,167



6) TS RTST W0 Jens BRTTE TOWRLITT oIesyw? (Which is currently
the fastest supercomputer in India?)

a) Param Siddhi

b) Airawat

¢) Pratyush

d) Mihir

7) Test Tube Babies QOTH ¢35 wnio® 30@@35 WP WAAT 853#&%’7? mm%mﬁ
F3oHRMZW? (Children born using which type of technology are commonly
known as Test Tube Babies?)

a) A° R, $OESHw (IVF-In vitro fertilization)

b) :eRR SART (Surrogacy)

C) WOTTREW, CCIREER WP PRFINTTY wox (Donation of eggs, sperm, or

embryos)

d) myehes® Yoty ecuods® Smeemtd (GIFT- Gamete intrafallopian

transfer)

8) WO WeTT® QWTWE® O350 WRCR TOBEFRoTING? (What type of program is Jal

Jeevan Mission?)
a) ©O3WFO %Q; (Groundwater augmentation)

b) B30 HINER Y V0T BoTFF (Tap water connection to households of

country)



c) %&ﬁ TR THTY BOIVTL VT @@Z% (Drip and sprinkler irrigation facility

for agriculture)

d) DeTRTO WS Wd.r%cﬁ B3 (Employment generation through irrigation)

9) TedT B3R B ITNT CRRYTT BOTT® , (Sadashiva Commission is

about which of the following,)

a) HOTHPT INeNY wexend moWE (Allotment of reservation for backward

classes)

b) @@gﬁos:%sc’ wexmend (Reservation of Minorities)

) T0dF SN ¥ e (Internal reservation of Scheduled Castes)

d) T0OF S =Y TOdF FTonwn¥ w¢ wexwed (Internal reservation for
Scheduled Castes and Scheduled Tribes)

10) AYUSH fés"'?s wcg)aﬁe; o2 83 NS SRR BebRAY? (Which of the

following does not belong to the AYUSH group of medical systems?)
a) ¥SReIY (Allopathy)
b) Reccwcdees® (Homeopathy)
¢) o3 (Unani)

d) 253 (Siddha)



11) 33 3&NT CIRT GoFodn ToRobT® T 1 WowoRATRNY, (Which of the
following option is NOT related to Panchayat Raj,)

a) TR To3TW xFFT (Three Tier Government)

b) 73 8¢ SHIR (73rd Amendment)

c) 42 8¢ QY (Article 42)

d) Q& 24 (April 24)

12) 33 3SNT O 2336%# 3 (IP)R BowoRADRAY (Which of the following
is not related to intellectual property (IP)

a) Copyright

b) Patent

¢) Geographical Indication

d) Geographic Information System

13) 303 83 FYNT O30T TOFEIJOR Ro3x, Bezene (India is NOT a member
country of which of the following organizations)

a) BIMSTEC

b) ASEAN

¢) BRICS

d) Commonwealth of Nations



14) modez® R. ©TTH OIT JLTEOR @%C(Sp SWMeSTeNed, (Sunil Chhetri is a
famous player of which sport)

a) % (Hockey)

b) 28%¢ (Chess)

c) w%@eo&a@ (Badminton)

d) @zt (Athletics)

15) soedne :3’0952’5033 20T B3 IINT OIRT RewSn TOWRNY, (Which of the

following statements about number of animals is not correct,)

a) mq@dcs ) Be3TOde @ %zazbd TONTY, BPOAT (The state of
Madhya Pradesh has the highest number of tigers in the country)

b) FTREWT T Be3mOode @ daag SINTRY, Beod (Karnataka state

has the largest number of elephants in the country)

¢) MR THT) de3mOode @ %za‘é RA0TNEY, oo (The state of

Gujarat has the largest number of lions in the country)

d) @mo Tty BeBTYCHe W3 T WTBNERY, Teold (The state of Assam

has the highest number of leopards in the country)

16) 33 3N dc@%’r{%”d& N2, FENT G esoi%ﬁe?ozﬁ TOOIRT ngwabd 3020.
(Read the following statements. Choose the correct answer from the options

below)



I. S:NTHT FToorwdd %@J@C&s‘?s TYER) SAT WTeT FPeoosen. (The present

Karnataka High Court building was earlier the ‘Athara Kacheri’)

I1. SBNTHT BONRROT B0 ToFF S[RTWL Fowe* z%@@ ©n2). (The present

Freedom Park in Bengaluru was earlier the Central Jail)

IIL 'S8 PFTY QT seeonen 5@%5@56 @Jwé’osm& Qenzey 'Qwen oG
QeweRennd. (Vikas Soudha has been constructed, to overcome the lack of

space for various offices in the Vidhana Soudha)
a) DevF 1 <3y 11 003N (Statement I and 11 are correct)
b) Sewd II 03, I ZOosN:S (Statement 11 and III are correct)
¢) Rewd I s I 003N (Statement 1 and III are correct)

d) Rewd I, IT =53 111 003N (Statement 1, 11 and III are correct)

17. :);ai TS WAF® (M) BREBRODR 3 IFNT CIRRTY, WERRORE (Which of

the following is covered under Swachh Bharat Mission (SMB) scheme?)

a) %oﬁaﬁa’ = TRPOOBNY ATt T WS, (Construction and use of
individual household toilets.)

b) B=wTCD %d)?&% Todcear A ed (Construction of Community
Sanitation Complex)

C) P D, TF ] QW3 (Solid and liquid waste management)

d) SeOF QZR (All of the above)



18. IOt Toes ﬁoﬂ@ﬁ@’g BABOR DRPBT WRTT THF (Power to levy

property tax in Panchayat Raj institutions)

a) 2BCR ToweonT R T (Only for Zilla Panchayat)
b) TR IJowwone® R & (Only for Taluk Panchayat)
) MO Towon® R w5, (Only for Gram Panchayat)

d) 3edT QTR (All of the above)

19. FRFWT TP TOWCHT® TF IFRTROERITRT (Panchayat Raj University

of Karnataka is located in)

a) ﬁ:gjmcﬁo (Mysore)

b) 23onsrc> (Bangalore)
¢) Poowme® (Dharwad)
d) non (Gadag)

20. Zx%T §c§w§§1 RT3 BOATRRT B3 PenmQ Beoxoen (Co-operation is

included in this PART of Indian Constitution)

a) IX

b) IXA
¢) IXC
d) IXB



21. NS o= mo%# TeINoBTy, RTETY B0 h"oféﬂ% WHRORWITH? Which of

the following organizational structure is followed by Co-operatives in India?

a) $roS® T8 (Federal Structure)

b) 3T 038 (Unitary Structure)

¢) %GOQ@%@’ 0238 (Centralized Structure)

d) ascoges@s 038 (Decentralized Structure)

22. Te3TG UBEH W QO TA TR Tw SeeERNoRD ROR Worm [
? (Sakal Yojana, which is known as the best people friendly scheme in the

country, In which year it is implemented?)

a) 2011
b) 2012
¢) 2013
d) 2014

23. AT ABrewd owdesd? (What is Suvidha Yojana?)

a) AP ReST AT TRTOPAT  RedF (A platform that started giving
widow pay)

b) BRETT QNG FOYED CIRCRRNAY WRODY wils TOTL TPOFNTY
woNDRT (Providing facilities to apply under various welfare schemes of
Govt)

€) D&HLOBOR TowoRAW BRI Brewd (A new scheme for women)

d) 3O SRR ©Q (None of the above)



24. Tpd TTY zoodyos», (Right to Information Act)

1. ZNRFOSRY Ty I wNR0TOR RIS AeRS. (Empower citizens to
question the government.)

2. 3 RO IREOT FOTTY TeOWBETS 03 BRFBMOOEORTY,
méczﬁﬁ:gd. (The act promotes transparency and accountability in the

working of the government.)

3.  3eom ITeT, Doy XeT WFme Jweod FOF N ALY W,
(Central government, state government or local bodies come under the

ambit.)
0T o3nw Ievdnd OceNns (Which of the above statements are correct?)

a) 1 & 2 only
b) 3 only
¢)1,2 &3
d) 1 only

25. ¥-TFO 20w (e-Prahari is)

a) ToordT %& Qoesdosy IOIT ggo&oﬁsgz HOY TN WHTN TR B4
©8e3x® (This app to make work process of Karnataka Agriculture

Department easy and quickly)



b) zwﬁowmaeo QeRS3O3w IOITT ggo&oﬁabel HOYP THT TN TR B4
@%@csae (This application is to make the work process of water resources
department easier and faster)

€) TIFET T YURA3OID FORT TFOHORT, HOY N/ WDTLHN TREED 3
©8e3%® (This application is to make the working process of Karnataka
Forest Department easier and faster)

d) 3con BHrTm wom | 03eewE (An e Scheme of Central Govt)

26. 33 3INT NYY ST BeeR o3P (Which of the following pair is the
wrong?) (M)

a) TN 1 TX Qo83 (Damini : Agriculture Department )

b) ©03EFY @ =O 50@&@@@ aen&3 (Antharjala : Water Resources
Department)

€) B-TOTT FoTRCH Y¥wead (e-Parihara : Revenue Department)
d) <P, : Secomed ey Swmees wwesd (Maulya : Stamps And

Registrations Department)

27. Ido=T %d:;oﬁ: WERPORTR)T®, (The ecosystem comprises,)

a) .00 TWITY AT JRFF WRIOH I 38N (all the individuals of
a particular species living in an area)

b) w0 TESTO AT 2R Td Tpdewwnisd (all the animal species living
in an area)

¢) 2.0 TRITY TATT AR W8N (all the organisms living in an area)
d) 2.0 TRBTON AR WeANYD DY dWers Pe3zned (all the living

organisms and the non-living components in an area)



28. 2.0T WASRETE oW, (A biome is,)
a) QOFITNT TWTRT W TRTINT Q0T ATALIOL TTDTROBNY TO3eLT (A
complex of communities characterised by distinctive climate and vegetation)
b) 2.0T @%@# TRe3 (A delimited area)
) OTCRTE YN DIy ANy "onz (A collection of rare plants and
animals)
d) R0rY TRe3TQ Botnm BN o= (A group of plants growing in a

particular area)

29. BT TIR[BP) CIRYTC BOTE WOSTTEYED 2.TOWRNS, (The Basel
=

convention is an international treaty concerned with,)

a) wcw%az:szs KoSEEd (conservation of biodiversity)

b) L.BRes TWTE T=TP (depletion of ozone layer)

€) OTRORTO TYHNE NRCWVUNT WORNRY VCLOZED I WYY IS0
(control of transboundary movements of hazardous wastes and their
disposal)

d) NRCIVVNT TOTTT =0eS TJpew 70 wamwne:agl BROQTHT c3ncSng
QONOZD (regulation of environmental impact of projects having

transboundary effects)



30. 28TTRT TN TOTTRNTT TE0T, SINTE SOS° 0 wbny, Hocdeen 8
RAWTYL TFTowH 50% SNRY esos:%&rae;%w Se3o3w, (The mating and nesting
ground of 50% of the world’s Olive Ridley Turtles, the smallest and abundant
sea turtles, is located in:)

a) RRcs Foo=® (Goa coast)

b) W&z Foew® (Odisha coast)

€) TORT® FTem® (Malabar coast)

d) 3 209 (Gulf of Kutch)

31. HRTSTON z%cwa:ja% Tt MWW, (Biodiversity hotspots in India are,)
1. BR[F Fegnw (The Eastern Ghat)

2. BRTEF ST (Eastern Himalayas)

3. YORWIPR® WY VBRRTT QRN (Andaman and Nicobar Islands)

4. wz;gm Fean (The Western Ghat)
a) 1,2
b) 2,3
¢) 2.4
d) 2,3.4

32. "5oWef IO owded? (What is "oilzapper'?)



a) QFfcwE AT Y 3:5@ RRCOINY TOTOTYN Ao JOXT Fedo
3og§psmnc3. (It is an eco-friendly technology for the remediation of oily

sludge and oil spills)

b) ¥ TEHTRALNT %@ TO3ReuInen @@%aw@zmw =R~

®
30@@3&’5@2\5. (It is the latest technology developed for under-sea oil

exploration.)

c) B B[ 3N e.-sap%@@ﬁ.@%‘mcs ézgs z%as LOFR-YDORNO DT BReST

Np=ondd. (It is a genetically engineered high biofuel-yielding maize variety.)

d) Zo WINPT $FYFTN LVOLRE RSATTY, AcLoTr BT BJRET
Soggaﬁmﬁd. (It is the latest technology to control the accidentally caused

flames from oil wells.)

33. YPFRACNT TYZT® WOSTHYEOD WTOTTNTY 2 20N, (Stockholm
=

Convention was an international treaty concerned with,)
a) L3RS TWOW TITP (depletion of ozone layer)

b) {TOZT TToNT w:a@agsmsmf YOTIER THTY WEFCD ATHRFOTN T
QWFoR (elimination and restriction of the production and use of persistent

organic pollutants)

) TTRTHT WETHTH DY PN TSRS ;Bd:zgp BRCTUDZ OO0y,

BRolT (climate change aimed at fighting global warming)



d) &‘3@3&3@:356 "oTEE (conservation of biodiversity)

34. 198489 oHReICDT® im%?cs@ 3CEITOTT PUTOOW (PRCTRS &AL THTOI)
e:ea??%a’mﬂ RWDNTWCIRT @AV, (The gas accidentally released by Union Carbide
pesticide plant (Bhopal gas tragedy) in 1984 was,)

a) BWFS® @omed i (Carbon monoxide)

b) BT z%e:sﬁ 4% (Sulphur dioxide)

c) SDJCC%@‘ 80?».@%56&39 (Methyl isocyanate)

d) Soegdes® (Methane)

35. T0Rx?, TRHTC® Mx® (CNG) %02 33 F¢NT CIT TePIodw TOCIRNY?
(Which one of the following statements about Compressed Natural Gas (CNG)

is not true?)

2) QT VIT TSCNPF VOFINPNOZT TOITH T 000 éaa‘z:d VT THTRTTING.

(It is environmentally much cleaner than the other fossil fuels.)

b) 5 Fow FOHTROD TIWOBTY VT, TRLRZT. (It is obtained

during refining of crude oil.)

C) VT TRPNTTON WEFET® WY, weReoR, (It comprises primarily

methane)

d) LPG 030393, 9w g&sce@smng. (Unlike LPG, it is not liquefied.)



36. w0mH Rdod e 7 d&%’ﬁ%’b DoSTRT. WL, PIT, Wowd, WIF®, T,
TITP DT, ARTST  (STT  ©FH okt TRRQY). woorF,  SRdNoS
NTCTOTRR TS WBOWDNOT FENTRN. TS m%w%&wm . RO, W
T POTT STF 0STHLID . DR, PTT' DT RITRY TN QOFID .
ToITRD, D D, TIFS® TDE 9GS, Qedon® @3503 SN wg C359T?
(There are 7 persons upon a ladder. Arun, Bharat, Chandu ,Darshan ,Manu,
Fatima and Gopal ( not in that order). Arun is farther up than Manu but is
lower than Chandu. Bharat is in middle. Gopal is between Arun and Bharat.
Manu is between Bharat and Fatima. If Fatima is between Manu and Darshan,

the person on the bottom stop of the ladder will be)

a) Fatima / $08%%
b) Manu / o=
¢) Darshan/ T3¢

d) Gopal / RecsRe®

37. 20TH JREF BRCETY 256’ wonT © FoI  wim AesdEY’ , ¢

589’ womd  ‘TATH 26w TRTY WY 254’w0oTT ¢ WY 6T zeﬁ:zbs;% ’
QOTFE. TOMRT ¢ BOT 'QOTH BRWIE  BRCET oinm)te? (In a certain code
‘256’means ‘red colour chalk’, ‘589’means ‘green colour flower’and

‘254’means ‘white colour chalk’the digit in the code that indicates ‘red’ is.)

a) 2
b) 4
c)6



d) 8

38. 51 o 100 T TSNS AYLRRF '50@5’2.)71%3 SR OT?(What is the sum of 51 to

100 Natural numbers?)

a) 5050
b) 5500
¢) 3775
d) 4500

39. A& B o 65 e B & C oo 109 T omdmesn® ow. 1,240 @< A, B
HZY C DT TowEROTT B 0 e Ry, (A sum of Rs. 1240 is distributed
among A, B and C such that the ratio of amount received by A and B is 6:5
and that of B and C is 10:9 respectively. Find the share of B)

a) 400
b) 360
¢) 480
d) 620

40. 2.0t Jedrodes History o -8 , Economics S-7, Kannada @S- 13, Political
Science & - 8 Tone Science T - 14 =FFNFRY, Alphabetical Order &n
BRRTIGINT. WS LeRWTR wort JXOBW 2 IDIIAD
WWFTHTON  WHBTOIY. (VTR &8 AROBT TIFAR TONCEDTHTTR). Soert el
50 SFIRTRH, BRWATOZT BARATR  HWNROROT 403 DFT o)L ?

(There are the 8 books of History, 8 books of Economics, 7 books of



Kannada, 8 books of Political Science and 14 books of Science are
arranged in Alphabetical Order. But the 2 books of the same subject do
not come together in sequent (until the books are finished). So what is the
40th book from the left side when a total of S0 books are arranged as

instruction?)

a) Kannada
b) History
¢) Science

d) Pol. Science

41. 3RT3COD VBT WOB VA WETW - UROTRITY TIPSR, TFWITS Wwd
o35 @ﬁ?d&bel BRm3TW? (When the Reserve Bank of India (RBI) announces

an increase in the Cash Reserve Ratio (CRR), what does it mean?)

o a) Tordy (MOBNY TOTW, JREW IR Teomwy BROWHIR. (The
Commercial Banks will have less money to lend)

* b) 3RTBE OXTF ROFT MMOTTY, JeEeD TR TRy BRowEH. (The RBI
will have less money to lend)

® ¢) 3007, XTFTR) TMOT, VB TR TEOTIY BRotHR) (The Union
Government will have less money to lend)

o d) T oIRYne @Y (None of the above)

42. 83 TewINTRY, TONd2 (Consider the following statements:)



A. BRET BBRNTOSYT m%ﬁ% THTY AT TIEROBNIR VS SABRNZP AR
TowE TR wHFTS BeoY(Unlike the Planning Commission, the NITI Aayog

does not have the power of allocating funds Ministries and States)

B. 33 2D TOUIOH TONFAR TP FOSTHOBVN0T NTReOTVR)T( This

allocation of funds is done by the Finance Ministry)

QeRTLT Q:SOS%KESQ BOCIRT LVTTTYN Rode3mT02: (Select the code for the correct

answer from the options given below :)

a) A <% (A only)

b) B =g (B only)

c) A 3 B oo@» (Both A and B)

d) A snde oz B onde ¥  (Neither A nor B)

43. MSMEGH R w%s%o& TR WO T PITE mdsmwm& s:;%
emaﬁzsabﬁoda F3033emmY (As per the new definition of Micro, Small and Medium
Enterprises (MSME), an enterprise of the manufacturing sector will be called a

small enterprise if its)

® a) WTT TRAFT Wetotd 5 FecE TR. NPNoZoN TR ©Tdes> (Annual
turnover is less than ¥5 cr)

® b) SWT T [&td 75 B3Rt SR.A0W 250 Beckd TR.NAY T YTl
(Annual turnover is between I75 cr to not equiv 250cr)

® () WS TRAFT WHWEL 5 BecE3 TR. NPOT 75 BRCEd TR.NAT T QTLdesd
(Annual turnover is between I5cr to 75 cr)

o () ®TT AT Tootd 10 3ecL3 TR.AVOT 50 &oct3 TR.NMAY TS QT

(Annual turnover is between I 10 cr to 50 cr)



44) ¥y dgoﬁ» SRLFIODY WAV I mewdg 30T SREW AZAT, STT
3R Fox JRZoindy (BRI, d@déz&@gw MTIRMEY ) Q0TRR & e
:od:dxasmwabd N0 FB03TS? (If a person is ready to work at the prevailing
wage rate in the market, but he is unable to find the work, then what type of

unemployment would it be called?)

® a) Zo%0 Zbcbziraz;cﬂ (Voluntary unemployment)

* b) Zonshezss ATHBARR (Involuntary unemployment)
® () IpIT/HACCH S)Ubdx%cﬁ (Seasonal unemployment)
o d) ScdT o3wRPRRe @Y (None of the above)

45) %maﬁ W%&i :‘i.raa%o# (IIP) 5534 33 IPNT o3 wooﬁ@ﬂ 6#& TRTENT ?
(For which of the following sectors is the Index of Industrial Production (IIP)

not calculated?)

* a) 59z TIocH(Coal sector)
e b) ﬁoﬁdm m%aimf (Refinery products)
® ¢) I WOOH (Agricultural sector)

* d) sy Tood (Steel sector)

46) SRFIZONY WQT ww:agd Elarhy BRFFIONY TT ms@,e e W IR
TOFRH WeThTZE ? (When there is high inflation in the economy, how will it

affFect the supply of money in the economy ?)

e a) wmmaﬁ S TOFTHRY(No effect on the money supply)

* b) TeoATE TR Ry (Supply of money decreases)



® ) I m%@ ©OOT ﬁ:a%z‘%gd (Supply of money increases)
o d) 3 edF cRPmR ¥Q (None of the above)

47) 3INT O30T C3RCERND SNONT FRTY TRENYY 1 &t ClTTOR P30 FONT
ZeITT, Teod ? ( Which of the following schemes has the objective to skill

1 crore youth in the next 3 years?)

® a) PFr O, [OT*® ©X° (Startup, Standup)

® b) TR oY P30 QwxE dreckme (PM Kaushal Vikas Yojna)

e ¢) MNREGA (MNREGA)

* d) Qe TSRY® LLTRGYOD Mesd FIV odeew (Deen Dayal Upadhyaya

Grameen Kaushalaya Yojna)

48) SIRe BT D OTTET TIHRC [OND VWS Fenen® (Repo rate and Reverse

repo rate are part of)

e a) decdeod Jed(Fiscal Policy)
e b) xeomAT d¢2 (Monetary Policy)
o ¢) TRRF e (Investment Policy)

e d) FDI ¢ (FDI Policy)

49) eoﬁww—%ae PITT TORFTEE) B3 IENT O3 weoﬁg TOWoRAT ? (Ayushman

Bharat Programme is related to which sector?)

® a) 1R FFoDe (Infrastructure)

* b) Bcg (Railways)



* ¢) & (Agriculture)

e d) e.-s&racr% o0 (Healthcare)

50) SRFT TRETY BTN, IF, DJC0H ACIONTY, AT 0 FHTLTOLOMWH) (In

a financial year how frequently does the RBI review the monetary policy?)

e a) 35e2FweN (Monthly)
e b) %mmmﬂ (Bi-monthly)
* ¢ %mmmn (Quarterly)

o d) ¥PrarFTen (Half-yearly)

51) ooz@ MTERAT BeHORG TYOIRONTRY, FSREONNOT JFLIMWST QT3N3
NS O30T ARONYW ? ( The directive to separate Judiciary from Executive in

public services of the State is mentioned in which of the following Articles ?)

e a) 47 S¢ Y (Article 47)
o b) 48 B 2O (Article 48)
o ¢) 49 3¢ Q (Article 49)

e d) 50 B¢ 2 (Article 50)

52) 3INTINYY oSRT> TST TOPJING  WTCBF PONTRNTOTT, ©TT  W=TT
)

HTRO3REN TFLOHOD FRNTRNTPAY? (Which one of the following is part of the

electoral college for the election of the President of India but does not form part

of the forum for his impeachment ?)
e a) Snreg 3 ( Lok Sabha)

* b) ooz T (Rajya Sabha)

* ) Do Des JoI|n®  ( State Legislative Councils)



e d) Do QAT TWOoBRONY (State Legislative Assemblies)
S

53) 3INS Jew3nTRy Joned2: (Consider the following statements:)

A. ToZIT wRAIT TP aphmn e.-ozsgd: ﬁ:@emgo&mq FREATWTODD. B3
FReRBrw DoTIOT mzsoﬁ m%smn OET TN WPRICIIT ©T>  SonLRymNn
bR ecSmondes. (The President can promulgate ordinances when Parliament
is not in session. These ordinances must be approved by the Parliament within

six months from its reassembly)

B. oogmanw SV 3t méo%, 53@6, TS DT ERWF BeRnTY JFeson
=

FOONFICY  WDPIT zgpwws;l DROTHE 12 =Hoh ﬁd%ddacz ST 3

wam@_pd(The President nominates 12 members of the Lok Sabha from amongst

persons having special knowledge or practical experience in literature, science,

art and social service.)

eOF RewIneY o3P/ TO ? (Which of the statements given above is/are

correct?)

3R QeRLT Boneon ¢vITFYN BOCIRE HoFeIRT 0L ¢ (Select the code for the

correct answer from the options given below :)

e a) A 3508 (A only)
e b) B %3 (B only)
® ¢) A B otE® (Both A and B)

e d) A snde wpse B snde ©o (Neither A nor B)



54. & FINTTTY SRTD "HRORRS T3S, NY %08 BPSA3R0QNR TOWOH
BRoQZ ? (Who among the following was associated with the Committee on

’Fundamental Duties’?)

e a) 2.o%f. T=we ZwS (J.S. Verma Committee)
e b) 32300 WS (Kothari Committee)
® () NO.N0. ToY TWS (M.M. Puncchi Committee)

* d) "o 2on® ZwS(Swaran Singh Committee)

55) TS BONTRRTR T, NPT 3333?56%3033 53571%”554 SeBeRNT ? (How

many type of Emergency have been envisaged under the Indian Constitution?)

e a) ATE PN (Two types)
e b) =R AFNE  (Three types)
® ) T Qpne  (Four types)

o d) 0T wowe 7 (Only one type)

56) QT ITINY WoL WRHCITE @zﬁz&g’é’oﬁaa‘ﬂ O3 FI]T ? (Who presides

over the joint sitting of the two Houses?)

® a) Ipes ognW (Prime Minister)
® b) SneeF Ty AFTT (¥FFD) (Lok Sabha Speaker)
* ¢) ;oXIenw (President)

=

* d) vI-TogIen (Vice-President)

)



57) SnreE BPoH deedo (RRFFY, Ong, :)‘os%) Q0w3 (Quorum of the Lok Sabha

means)

® 2) ¥WT TP IEOBEL TN eoptadelothle:pie] [THT TR 50&% (Minimum
number of members to be present to hold its meeting)

e b) ®TT =IPedw TEoder @d%mﬁ eepladalothlernl ﬁd:‘%d nosy '50@32; (
Maximum number of members to be present to hold its meeting)

* ) OTT HIoI FEOHW VTN TewOTUHT ITHT BoeRO KOs, (Average
number of members to be present to hold its meeting)

o d) mmdnm‘& HT, TONE RATRIWD WTT  BROF SRS TRTRS

(Presence of its full members to pass bills and resolutions)

58. & INTINTY 3T Uez:sﬁ%b 35:@ ooz ZoTTONTY (Fo=0 168) Q ﬁdwmfabez
BpeoRHN? (Among the following, the states which have two houses in their State

Legislature (Article 168) are )

® 2) MW, ToFWT I Y @ (Gujarat, Karnataka and Tamil
Nadu)

® b) DT, FFT DR dsmm% (Bihar, Karnataka and Maharashtra)

* o) mz:sm@w, Tooreds w3 #e0¢  (Rajasthan, Karnataka and Kerala)

o d) ow3T IR, FTerwF I Iooswed  (Uttar Pradesh, Karnataka and

Haryana)

59) 360 St FOWER FWREATO Q0D JIBFTOJI0I 0T, TORINOT
ODBRTIRLYT TRTW/, — QFNY wogm ToIT deondesnroyd. (The



Financial Emergency declared under Article 360 shall cease to operate, unless

approved by the Union Parliament, at the expiration of)

e a) 10 Q3N (10 days)
e b) 14 SR (14 days)
e ¢) 1 2one® (1 month)

e d) 2 3onsd (2 months)

60. Uaz%xaﬁoﬁaa BTN HBRTORT, SeeFRF0H TONEINMN TbiAT FOTT, oW
(FOTAW) TRRWIDE NOF ASNGTSNS @SQ ( Rajya Sabha can delay a
Finance Bill sent for its consideration by Lok Sabha for a maximum period of

the )

e a) 2l Azn® (Twenty-one days)
e b) o gond (One month)
e ¢) 7 Q3N (Seven days)

e d) 14 &zn® (Fourteen days)

61. 2023—24% FToorTe el WD, To%, TeHCOD em:?"ﬁ=z (GSDP) “&5? (What is
the projected Gross State Domestic Product (GSDP) of Karnataka for 2023-24?)

o a) 15,03,609 3rced S (Rs 15,03,609 crore)
o b) 14,23,229 2nced So (Rs 14,23,229 crore)
o ¢) S 13,35,052 wced (Rs 13,35,052 crore
o d) edT SRRPTR ®Q (None of the above



62. 3SNT RewINTY o3P/ TOCeNT (Which of the following statements are/
is correct)

A. 3.»&333 GSDP & %& §C§ﬁe§5 2022-23 % BReOT3 2023-24 39 13.66% dow
13.04% 3 55 ¥9E FoRW. (Agriculture sectors to the overall GSDP saw a marginal
decrease from 13.66% to 13.04% in 2023-24 against 2022-23.)

B. 3.»&333 GSDP # WC%SD Tooknwd 2022-23 % BT 2023-24 39 20.92% dow

20.24% % TRF 9% FoRF. (Industry sectors to the overall GSDP saw a marginal

decrease from 20.92% to 20.24% in 2023-24 against 2022-23.)

08 JewINYY IR MOoeNE? (Which of the above statements is/are

correct?)

® a) 1<% (1 only)

® b) 2 =58 (2 only)

® ¢) 1 3R 2 *owEe (Both 1 and 2)

o d) 1 ¥ 2 ¥ (Neither 1 nor 2)

63. 2022-23T .8 WLR SROH TeRR TR BYOH SHRABTY Bt FINT IRE XY
ST m@@csgd? (Which of the following District stood first in the total District

Income as well as per capita district income for the year 2022-23?)

e a) donwet> SnT (Bangalore Urban)
e b) v (Udupi)
® ¢) [IW Sa’llcg (Dakshina Kannada)

* d) ¥w2T s§® (Uttara Kannada) a)

64. TeaTIITTRY eogesd, B2 BENT BeVENTRY Joned2 (With reference to Inflation,

consider the following statements)



1. 0 STWRY BSNYD ST0F) AVFY &R 6&30?303 %2%356 3.@5’5554 TBROVT,
STOOT ARVND WRECeTFHENRYR gzsg ;’J.raimﬁdaga".(Food has a larger weight in
CPI than WPI, the CPIs are therefore more sensitive to changes in prices of

food items.)

2. Inen 8S :’uaz{g)oswg (WPI) 205w =)y 53:53539 THOT FT BS z.raz%oa’éé (CPI)
BReOATS éag@ SRTFI™Y, BPORT. (Whereas in Wholesale Price Index (WPI) the
fuel and power group has a much higher weight compare to the Consumer Price

Index (CPI).)

0% JewINYY IR MOORNE? (Which of the above statements is/are

correct?)

e a) 1 only

® b) 2 only

® ¢) Both 1 and 2

® d) Neither 1 nor 2

65. FERrtdT HFEOT Wit GTROH JTICHY B3 FENT CSRJYNGRY, WYRRORLIT

(The total revenue receipts of Karnataka government consisting of )

e a) 3cox 30RNYY T (share in central taxes)

e b) Toz, @0, (State excise)

® () JNCLRTY TS SONNY TR (motor vehicle taxes State’s)
e d) 3T 2 (All of the above)

66. FRFLIT TRTL® ARRLRTT For® LOGeDR, 35 FINT BeVINIY Jonsda (With
reference to Karnataka Rural Innovation Fund , consider the following

statements)



1. QW RO TWEBNFY TOTHWTTN TRTFTNDIT THTY TR BITTE =06
TOFRIH LT ‘DO[eEF TWELRT TRTOCLY TRFINFR, ¢VZRT MLTTRNT
(It will be socially complementary in rural areas and impact rural life on the

model of ‘Elevate Karnataka’ to promote innovations has been established.

2. 3:% BROIVT VD DY TF Be0WOZ MNerd TWeBNYOS ﬁds%ﬁ@@d TOTOIT
OIRRTe TPFFOTND TR, YOFdT APOWOT 5 dectd TP (Any start-ups, that
solves problems in rural areas, including clean drinking water and roads, will

receive Rs. 5 crore, from the targeted fund.)

=T %e@émfg oom)ce TOoswNES? (Which of the above statements is/are

correct?)

e a) 1 33 (1 only)
e b) 2 350 (2 only)
e ¢) 1 3 2 @R (Both 1 and 2)

e d) 1 @3 2 ®Y (Neither 1 nor 2)

67. TRFWITY B ITNT OT QRO TR TREBNER WTIT DT BD1TET
BORCIWT VTR, WIS 0T T 3. (Which of the following department in
Karnataka is working on providing safe and adequate drinking water to rural

areas.)

® a) MWD FBoROIBT e 1Y Fzee, @wesd (The Department of Rural
Drinking Water and Sanitation)

e bh) msowm%@ aensd (Department of Water Resource)

* ¢ @mcm@%g awead (Department of Rural Development)

o d) Towcks® TeF ¥eead (Department of Panchayat Raj)



68. MGNREP ©Ro®Q, Teomms), $eom, ) ooz, RHEONY SRR OIRT WHTETY
Toe3eerdy3n (Under MGNREP, Funds will be shared between the Central & State

Governmat in the ratio of)

e a) 90:10
e b) 60:40.
e ¢) 75:25.

e b) 50:50.

69. TTFT FRFOT 33 BREBIN FOWORITOZ 83 IPNTINTY oSRPT BO? (Which

of the following are correct about Shakti Yojana of Karnataka Government?)

* a) TREWIDY ISAHT F3cohOoN HeOWOZB ToHT DR WHTONT 3
C3RCENONTY, TEovww WTFoINTHET. (All women of the state, including
the third gender, having domicile of Karnataka are eligible to avail this
scheme.)

e b) Gol/GoK &5z o3nR)ce 93T Iserd xogoaaod QEBSRT THTLIT 23083
RO RFUT, 71 THS DTOTTTY, LVTPRILT TRVT VLT TOIRERTIRY,
wHTH3ReRNS. (Free travel is permitted on producing identity card bearing
photograph and residential address that is issued by Gol/GoK or any
other Government Undertaking.)

* ) THTRYR T[N 0T TOIRETR, WLILIVRNT. ©WOBTTRY, TV
®=R3NY. (Free travel is permitted only within the state. Interstate travel
is not allowed.)

e d) 3T 2 (All of the above)



70. Oon WIS maa%os@ N DI EN] eazp:g)@pox TR TFvD wosngd don
@5&%53”0335‘34 WIINITW.  IINTINTY o@@cﬁm& wamémmgag? (Gender
Inequality Index measures gender inequalities in three important aspects of

human development. Which of the following is not consider?)

a) ToTRRCT ea&acr% (Reproductive health)

b) ©W§ 3 3FTQ Pon=&RE (Participation in Higher Education)

¢) 3OETed (Empowerment)

d) 87 %gpé (Economic status)

71. BITRS I, T,

3 5. ‘&og w:s_ap LHTONOT moabmfg. 33 éc@%aﬁaﬁb‘i ACRTITL
o =T VY ’@%3’033 wPeEed? (The enemy of the Harappans was nature.
Indra and the barbarian hordes are exonerat— ed. Who made this statement

and what is the meaning of ‘nature’ here?)

a) I°T° GQIO@%W— VBT PP A0PR BT gmw (Sir Cunningham-it means the

nature or character of the Indus people.)

b) 3.00. 3LRETT - VWO WP SODF GFFOTTT gz;ew. (KM Srivastava it

means the nature of Aryan invaders.)

C) BOF. e - /BT WBF a"éﬁﬂFE’ QNpezned. (GF Dales-it means natural

calamities.)

d) 9. FRETF - [T VP A0FR BIT FFAFILOD BockRews. (A Ghosh-it

means the heterogeneous composition of the Indus people.)

72. 3ReTT B Q00 TWT ©Pe (The Rig Vedic word kulya meant)



a) &;E;Qb 030, (a threshing machine)
b) RRFF 0e30H VTR (a particular type of dress)
c) afzated %3 (an iron sword)

d) QeTTO e (an irrigation canal.)

73. SROHFT STHODY CINT WHTOND %255 ﬁos%oﬁagcgda? (Which officials

were most numerous during the Mauryan period?)
a) TyCoIROR WRTOND (Judicial officers)
b) NOWD wQTONY (Military officers)
¢) Tomo® wQETONY (Revenue OFficers)

d) MTEEIT TOYo WRTOND (Public Welfare OffFicers)

74. FENT O30T HOMTY® TR SN W TodT JRIONOT AT wHneR
BISRCB[NG (Which Sangam town below is famous for pearls and snakeskin

muslin fabrics)

a) w0 (Mujiris)
b) W%OSJJ@G" (Uraiyur)
¢) &ozeT® (Puhar)

d) 203ehe (Arikamedu)



75. 1739 BQ "FRFST FRT" WO DIIW FOPFRETND IAFST TR, DTy
TENY TS (The "Battle of Karnal' in 1739 was a significant conflict between

the Mughal Empire and the forces of)

a) To00® o (Nadir Shah)

b) @&gcf o TR (Ahmad Shah Durrani)
¢) 3¢c® 0 RO (Sher Shah Suri)

d) ez (Hemu)

76. SRCTT § THRACNCOLTY, — TFT 930N dweRwooe (Moth Ki

Masjid was built during the reign of)

a) 2TonT® Seed (Sikandar Lodhi)

b) Bo3WF-NTF - 20WF (Qutb-ud-din Aybak)
) POIWBRC® WY (Ghiyasuddin Balban)

d) $BRE o FPwF (Firuz Shah Tughluq)

77. Z)SJQCCS wz%csg FOTRDWILT "N’ Q0W JBTW) OSEQ’)CSS%1 BRWWITT IYNTIND?
(Which of the following is referred to by the word ’vidata’ found in the

Rigvedic text?)
a) .00 Wwsty (A tribe)

b) g QVTFTED (Agricultural tool)



¢) 308 (Tax)

d) wmsey T (Tribal assembly)

78. SoSTT BeRn, SHowO BeINW I ﬁr%zaa@ RO TEITIND RTICOD
@330%&? NS CIRT BRTINY FHONTY 30T NHITRT m%mae:)rmsos:
BRCTRW SHAIN? (Vanar Senas, Manjari Senas and Magic Lantern
Demonstrations were some observed forms of armed struggle during which of

the following Indian independence movements?)

a) SPouF s|nE (Rowlat Satyagraha)

b) wxxTT 230T® (Non-Cooperation Movement)

¢) TONOT ©ATTT w@H=P (Civil Disobedience Movement)

d) 08 Rey BN wWDTY (Quit India Movement)

79. SMRFRCT TeVT (RCSTYR DV INTNT/PRINT TYoDY S FENT oSR[
INTR) /RS 2Y? (Which of the following is not a class/caste in Megasthenes®

list of seven classes/castes in India?)
a) 5w (Formers)

b) msman‘% (raders)

c) 3§§a®ﬁe§: (Philosophers)

d) B3oFReN (Craftsmen)



80. TOYRCHT[T NIATRAT YVTTOTR) wo%ﬁ.@o@dg OIRR)TT TOTOTHWRN?

(Gandhi’s historic fast ended as a result of what?)

a) MOR YRF® WI0W (Gandhi-Irvine Pact)

b) TR wIJow (Puna Treaty)

c) ﬁédaae eodnens &nsds  (Visit of Simon Commission)

d) Swoune ?,Se'ﬁ; Nq‘.:’@‘? o038 (Montego James Ford Reform)

81. TRUT PRTITY T PWTO3T @dt‘so&m& wGeD2, POLO, FBRRT DI
WP Tyronsd oﬁ@cﬁ% c@%czmﬂa”. (With reference to the period of the Gupta
dynasty in ancient India, the towns Ghantasala, Kadura, and Chaul were well

known as)

a) QTed msmdwabgz QTF&LIT womoonsd (ports handling foreign trade)
b) T m@%mf TomTRAN (capitals of powerful kingdoms)

¢) ZRANTT FON 7S Y WIOT BN (places of exquisite stone art)

d) T=o z?acg 03502, eomnisd (important Buddhist pilgrimage sites)

82. "V QOT Jed" c3pBRoAR TowoRAT (The “Blue Water Policy” is

associated with the)
a) JIeadrncs® - @6@)&".@“ @ ©pEs’s (Portuguese — Alfonso De Albuquerque)
b) W3 - AT Tesw® (British — Steve Hawkins)

¢) BRWDFNCT - TRIZR QR @Qicm (Portuguese — Francisco De Almeida)



d) o - SRt @ oY (French — Nino Da Cunha)

83. “IF03T ToTNTT Tefd STHRRL TEHATY, TS ISR AT JF, IR
&Qz a”éz:dcﬁ @o%mﬂ ﬁ@ﬁsé:‘bgd” QOTH VeY 354 RO W gﬁ’szg 55139 33
FePNTTTY o3T? (Who among these was the famous man who left his life
saying “Life of an old man like me is not important to me, but to you it is the

end of glory of your Kingdom.””)

a) wez%a@ (Bulbon)

b) 1 8¢ ¥Zw® 5@ (Ist Ahmad Sha)

c) ds%d%ﬁe nwox® (Mohammad Gawan)

d) =Heode @ @@ (Third Mohammed sha)

84. MO Bee WITARHT® VIO, Yvgedr, B IVNT SBewdned, Tontdx: (With

reference to Guru Tegh Bahadur, consider the following statements:)

1. 13 Bees® WIWRT® 8 Fe 285° TS, (Guru Tegh Bahadur was the 8th Sikh

Guru)

2. T 3ent WIBTRT® wwdm& &0T D WET® {RUBE TFF Q0me FTOHIMTT.

(Guru Teg Bahadur is also known as Hind Di Chadder—Protector of India.)

3. 1675 0Q, = IRFPO WIFTIT WITVONCT' WNT STeIT DS MTTWITTN
é@gg&é&. (In 1675, he was publicly killed on the orders of Mughal emperor

Jahangir.)



S ARLT TewINGY oY FOoSNT? (Which of the statements given

above is/are correct?)

a) 1 32 2 30 (1 and 2 only)
b) 2 38 3 =0 (2 and 3 only)
¢) 1 33 3 2oERe (Both 1 and 3)

d) 3¢OF Qe (all of the above)

8s. ﬁédaae DWSOR ébc‘ad@ TR BRTPONY WHINT Uac?é)coﬁo RRCTOLIMT

(Which freedom fighter died in the agitation against Simon Commission ?)
a). PP OEITS® Tood® (Lala Lajpat Rai)

b). BRI w* Rome, (Mohanlal Dingra)

¢). ¥oT3e0T 2 (Chandrasekhara Azad)

d) . 3ns® 20on® (Bhagat Singh)

86. BTTTY ST SRR BRDVFT 0T WO Q%0w3? (Swimming in sea

is easier than swimming in river because?)

a). BXDTE JOT TOTZ %2,53 (Density of sea water is high)

b) S8 AOT TWOT3 é?@g (Density of river water is high)

) BITE AT T WOBHIHIT (Sea water is always in motion)

d) SQOH Ve WACIHNTHZT. (River water is hot.)



87. FSNTINTY WORTRTHBAY TUWRNR WVBRVFTTRT wbﬁééﬁ% o350)%)? (Which

of the following are favourable conditions for the formation of cyclones?)

1. 27° C Nog8 TR TERIBR00R B Fong bed ; (Large Sea surface with

a temperature higher than 27° C)
2. 3R003ROE wOT Ww}’%é (Presence of the Coriolis force)

3. AT, YT %5:;033 =008 RFZ (Upper divergence above the sea level

system)

psfelevsring ngwmol 302 (Choose the correct answer)
a) 1 3= 2 =% (1 and 2 only)

b) 2 &3 3 <% (2 and 3 only)

¢) 1 =% (1 Only)

d) eOF QZP (All of the above)

88. L.uoiPRF TR BOWORAWOZB B IPNT B ITewInDd ROCHRNS: (Which of

the following statements are correct regarding Oceanic Crust:)

1. ST JRTITTR) TOWROWL® FXT, NOT TOTFRNTHTH. (Oceanic crust is

denser than continental crust.)

2. TeoLNoBS® TR ReedIWT TNTE IBRTITITY) é’%ﬂd:gd. (Oceanic crust is

thinner compared to continental crust.)
[OCIRT YVZTWRY, @0A (Choose the correct answer)

a) 1 <% (1 only)



b) 2 =598 (2 only)
¢) 1 58 2 OTER (Both 1 and 2)

d) 1 50 2 @ (Neither 1 nor 2)

89. *PERWIN BQH&EOODT® m@dd%d’. WET Wprsest? (‘Earth is in aphelion

position’. What does it mean?)

a) PRNWD TRRFT BWIHYR (Earth is near to Sun)

b) HRNEL TROVFROT W0 BRCROR (Earth is farthest from Sun)
¢) PRWA BoTT IITRYT (Earth is near to Moon)

d) PRI WOTIOT W0 ReSROT (Earth is farthest from Moon)

90. OTTN J8RCLTT QETNFY FOW T wW0TEFLY, WFON Beby)cd. (Tribal

population in Andaman and Nicobar islands belong to)
a) @f%ceraosbg wSeon (Austroloid race)

b) ®T3F kmeon (Caucosoid race)

¢) Sorewecs® wmeon (Mongoloid race)

d) derReeote wmeon (Negroid race)

91. 3 FIATHNYY oY TOSHN Beometddesseny)? (Which of the following

is not correctly matched)



(Tezg, ) (State) (COTTRR)
(Capital)

a) YOOI TWe3 (Arunachal Pradesh) - tsnc (Itanagar)

b) @m0 (Assam) - ¥NSEDR
(Agarthala)

¢) Peeoess® (Mizoram) - R’ (Izawal)
d) mmer%ow (Nagaland) - 320%50 (Kohima)

92. 33 YR VRS TNC TFeRNTY AIRTD) em% Tewneenz=? (Which of the

currents given below is/ are warm oceanic currents?)
1. nes, é}caﬁf (Gulf stream)

2. 0Oy TNC T (Alaska Current)

3. ¥neR®® mNC IJes (Agulhas current)

4. BTncddee NT Twex (Kuroshio current)

QeRTHS 6:303%71@05 BOCIRT LVZTTYN 50%@35@182). (Select the correct answer

using code below)

a) 1, 2 3 3 &% (1, 2 & 3 only)
b) 1 & 3 &%g (1 & 3 only)

€) 2 & 43R (2 & 4 only)

d 1,2.3&4 (1,23 & 4)



93. 2011 T RC3T WINOICR FTQOH TFT, O3 00N FOKOILL T DTNTI?

(According to 2011 census of India report, which type of stream of migration

is still dominant?) (E)

a) MFHROT SncE (Rural to Urban)
b) sSncQow mesd (Urban to Rural)
¢) M Qow @mg (Rural to Rural)
d) sSncdow 5716% (Urban to Urban)

94. o33z TR WINY TTed 3eedne B3 BooswN BRoQESHNY. (Which
of following mountain peaks is in not correctly matched with their mountain

Ranges)

1. MTod0T — @¥oeEm® (Gurushikar — Aravallis)

2. IOIWE - IYw» P4 (Parasnath — Western Ghats)

3. SHReomNO - “owy (Mahendragiri - Vindhyas)

pifelevring 503@371%”554 ¢302. (Select the correct answer using code below)
a) 1 & 2 358 (1 and 2 only)

b) 2 & 3 %508 (2 and 3 only)

c) 1 & 3 &g (1 and 3 only)

d) SeOF QP (All of the above)

95. YN ée@%’ﬂ@;’m& Jonedx. (Consider the following statements.)



1. BRTT® Tone WROTRHCINERTE WO RRCH, TOWBRORE. (Assam shares

borders with Bhutan and Bangladesh.)

2. BRZE Tone JeTENRLRODR TYT wome NROBTY, TowdeoRT. (West

Bengal shares borders with Bhutan and Nepal.)

3. WROTRTES TR O T NERTE WeleTeo NROLE, TowdRoR:. (Mizoram

shares borders with Bangladesh and Myanmar)

eOF DevENTY TOOIRE Rewdnd (Which of the above statements are correct)
©) 1, 2 And 3

2) 2 And 3

©) 1 And 2

&) 1 And 3

96. TILRET FIRT IYNT CINT TBINT MOXT TWRVT Toeky TR, (Which

group of countries below the equator passes through?)

Q) WRBSF, WWWONATR, TN mﬁc@ (Brazil, Zambia, and Malaysia)

N) ROV, 36T TN aod.@cﬁc% (Colombia, Kenya and Indonesia)
2) WRSF, W Tone mﬁc@ (Brazil, Sudan and Malaysia )

Q) JIKwWIR, VRdRELIR Tene Borweesesw® (Venezuela, Ethiopia and

Indonesia)



97. [y 1 Torin e 27, BRODY FRLDHT HoBeBAOT FOOIRT LVITTRY,

603%&%@ (Match List 1 and List 2 Select the correct answer from the given

symbol)

List-1 (Board)
N. TOC WBRCTE
0. TYo® Weewrs

&30 BeeEts

20

B. 30D BrReE T

A B

List-2 (Head Office)
1. Bongets (A. Coffee Board 1. Bangalore)
2. ootdeT> (B. Rubber Board 2. Guntur)
3. 3pEeR0 (C. Tea Board 3. Kottayam)

4. rQ=R (D. Tobacco Board 4. Kolkata)

C D
2 3
4 2
3 4
4 1

98. HTROOH T 3peed adacng, PRT3T e QVoERRWTTNG xomws

WPORRCYT Torvwdsead? (If the Himalayan mountain range did not exist, what

would be the potential geographical impact on India?)

1. Be3T WI3eF N f’gwéomw 33V @Q?ﬁfé’md QO IR). (Most of the

country was facing Siberian cold waves.)

2. 20TR-TNOT® TQ WOBLY T msgs QeES $RT3R Bster> 3. (The Indus-

Gangetic plains were suffering from dire shortage of alluvial soil.)



3. TRRRTS SRR émcb@d%oz zj.’)qzmﬁd)._%ps_:o. $eOTINYY BOSRT
Rewdned (The monsoon pattern would have been different from what it is now.

Which of the above statements are correct?)
a) 1 only

b) 1 and 3 only

¢) 2 and 3 only

d) 1, 2 and 3

99. ZrRoQR WB0WD. (Match the following)
Fe3-1 (List-1) Fe3-2 (List-2)
1 SHedootd (Mekedatu) A gnrmne (Kodagu)
2 Poubg wowee (Bharachukki Falls) B Bemo (Belagavi)
3 e:Dag &OTE (Abbey Falls) C Sosand (Ramanagara)
4 necTE 0T (Gokak Falls) D TSNS (Chamarajnagar)
a) 1-D, 2-C, 3-B, 4-A
b) 1-D, 2-A, 3-C, 4-B
¢) 1-C, 2-D, 3-A, 4-B

d) 1_A9 2_B9 3_C9 4_D

100. 3SNT o ©rdELmh ToertiTnQ Forowomd?  (Which of the following dam

can be found in Karnataka?)



a) DI $rdsed) (Supa Dam)

b) TomedeS Tnc &rdEty (Nagarjuna Sagar Dam)
¢) ¥olTe NS wrdsty (Indira Sagar Dam)

d) 3.&903;;z e85ty (Koyna Dam)



